

02/01/2024 09:00 AM | Install Day 1 02/02/2024 09:00 AM | Install DAy 2 02/03/2024 09:00 AM | Install Day 3 02/03/2024 06:00 PM | Event 02/04/2024 08:00 AM | Strike PO: Shipping Address: Sunset Las Palmas Studios 1040 N. Las Palmas Ave Los Angeles Ca 90038

Stage 11

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions 02.02					
	Dining Chairs - Palm Springs - White Wire Chair Discounted 100% 21"W x 24"L x 32"H	4	\$25.00	Т	\$100.00
	Benches - Kids - Light Up Plexi Discounted 100% 5âl	5	\$150.00	Т	\$750.00
	Black Velvet Drape for Above LED	1	\$7,500.00	Т	\$7,500.00
			Total Additions 02.02		\$8,350.00
Additions 1.31					
	Club & Lounge Chairs - Kids - Accent Chair White Velvet Discounted 100% 18"W x 18"L x 25"H	4	\$18.00	Т	\$72.00
			Total Additions 1.31		\$72.00
Entry Tunnel					
	Perimeter Drape - Two Tone Chiffon 16'H for the entry 'road' into the round kiosk room	1	\$4,200.00	Т	\$4,200.00
	NEW Flat Ceiling - Grey Scuba Tunnel is: 8'W x 40'L and 8'W x 8'L	1	\$2,000.00	Т	\$2,000.00
			Total Entry Tunnel		\$6,200.00
Round Kiosk - M	erch Area				
	Perimeter Drape - Two Tone Chiffon 16'H for a 30'D circle x 16'H double-sided with pullback openings	1	\$7,250.00	T	\$7,250.00
	NEW Flat Ceiling - Grey Scuba for the 30'D circle	1	\$4,500.00	T	\$4,500.00
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small) COVERED mirror Painted Grey to match Drape color 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$3,250.00	Т	\$3,250.00

Description		Qtty Price			Total
		Total Rour	nd Kiosk - Merch A	rea	\$15,000.00
Perimeter Decor	- Main Room				
	Exit Drape - Black Velvet Stretch 16'H 80' to 100' of drape for exits **NEED exit signs please**	1	\$2,350.00	Т	\$2,350.00
	Truss Covers - Black w. Velcro price approx until confirmed	1	\$2,550.00	Т	\$2,550.00
	Additional Truss Covers - Black w. Velcro (3) 52'L (1) 42'L	1	\$0.00	Т	\$0.00
	StarDrop Drape - LED approx 475' x 25' to 30'H	1	\$48,750.00	Т	\$48,750.00
	To	Total Perimeter Decor - Main Room			\$53,650.00
Food Court					
	Dining Chairs - Palm Springs - Multicolor Wire Chair painted hot pink 21"W x 24"L x 32"H - Custom Color upon request	24	\$25.00	Т	\$600.00
	Bruges Tiered Bar 8'L Painted Hot Pink 8' x 30" x 42"1/4H	1	\$950.00	T	\$950.00
	Bruges Tiered Bar Extension 6'L Painted Hot Pink 6'	2	\$750.00	Т	\$1,500.00
	Las Vegas Low Bistro Table - Painted Pink Hot Pink 36"R x 30"H - Can be custom painted	4	\$275.00	T	\$1,100.00
			Total Food Court		\$4,150.00
Slime Station					
	Club & Lounge Chairs - Kids - Accent Chair Pink Velvet 18"W x 18"L x 25"H	16	\$18.00	Т	\$288.00
	Dining Tables - Kids - Color Top & Base Square 42" Painted light Pink 42" X 42" X 22" 1/4"H BASE 24" X 24" X 21" 3/8" H - Custom Top & Base Color Upon Request	1	\$125.00	T	\$125.00
	Dining Tables - Kids - Color Top & Base Square 42"	1	\$125.00	Т	\$125.00
			Total Slime Station		\$538.00
Dance Area					
	Dj Booths - New York - Flat Front painted Hot Pink 30"W x 4'L x 42"H - Color Upon Request	1	\$550.00	T	\$550.00

Description		Qtty	Price		Total
			Total Dance Area		\$550.00
Funnel Cakes					
	New York Bar 6'L - Flat Front & Sides Paitned Red 6'W x 31"L x 42"H - Color Change Upon Request	1	\$875.00	T	\$875.00
			Total Funnel Cak	æs	\$875.00
Milk Shakes					
	New York Bar 6'L - Flat Front & Sides Painted Hot Pink 6'W x 31"L x 42"H - Color Change Upon Request	1	\$875.00	T	\$875.00
			Total Milk Shakes		\$875.00
Kids Seating					
	Kids Cloud Accent Chair - White Velvet 18âN M âN IX W9âN M âN X 28âN M âN M SHAT DIMENSION 14âN M âN M X15âN M '	2	\$35.00	Т	\$70.00
	Kids Cloud Sofa - White Velvet	1	\$200.00	Т	\$200.00
	45⤠0 ân 0X W17⤠0 ân XI 3L0ân 0 ân 14 H				
8	Club & Lounge Chairs - Kids - Flower Chair White 27"RND x 23"H	20	\$18.00	Т	\$360.00
			Total Kids Seating		\$630.00
Services					
	Installers: Install Thursday	10	\$500.00		\$5,000.00
	Installers: Install FRiday	10	\$500.00		\$5,000.00
	Installers: Saturday	6	\$450.00		\$2,700.00
	Installers: Strike Sunday	10	\$500.00		\$5,000.00
	Trucking: 24'L Box Truck	2	\$450.00	Т	\$900.00
	Trucking: Fuel Surcharge	2	\$65.00	Т	\$130.00
	SUBRENTAL: Delivery and Pick Ups	1	\$3,200.00		\$3,200.00
	Equipment: Scissor Lifts **Client to Provide (4) Lifts**	4	\$0.00		\$0.00
	Manager: Onsite (3) Days	1	\$2,550.00		\$2,550.00
	Manager: Layouts	1	\$1,500.00		\$1,500.00
	Certificates: Flame Proofing	1	\$950.00		\$950.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$90,890.00

Total Labor/Services/Misc: \$26,930.00

Wear & Tear (6.00%): \$5,249.58

Packing (3.00%): \$2,624.79 Taxes (tax excempt): \$0.00

Discounts: (\$3,397.00)

Total: \$122,297.37

Payments: (\$0.00) Balance: \$122,297.37